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1.The frame shown that support A is connected by a pin and support B is a roller. Determine the reactions

at Aand Bwhen « =37° (25%)
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2. Aroller with diameter 0.5m is weighted 200N. Determine the moment M to be required to roll over an
obstacle with height of 0.05m, and what is the minimum friction coefficient between the roller and the
obstacle without slippage? (25%)

A M

0.5m /O\

0.05m

3.The block B starts from rest and slides on the wedge A, which is supported by a horizontal surface.
Neglecting friction and 4mg = m,, determine the acceleration of the wedge A and the acceleration of

the block B relative to the wedge A. (25%)

4. A slender rod of length L is pivoted about a point C located at a distance of b from its center G. If the rod
is released in a horizontal position and swings freely, determine the distance of b for which the angular
velocity of the rod is maximum as the rod in a vertical position, and then the reaction at C. (25%)
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